C:# Détermination de la probabilité de spinner Nom:

Résoudr e chaque probléme. Réponses
1) Which number isthe 2) Which number isthe 3) Which number isthe
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10) Which letter isthe 11) Which number isthe 12) Which letter isthe
spinner least likely to spinner most likely to spinner least likely to
land on? land on? land on?
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Ch Détermination de la probabilité de spinner Nom: Clé

Résoudr e chaque probléme. Réponses
1) Which number isthe 2) Which number isthe 3) Which number isthe
spinner least likely to spinner most likely to spinner least likely to 1 2
land on? land on? land on?
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4) Which two numbersis 5)  Which letter isthe 6) Which letter isthe
the spinner equally likely spinner most likely to spinner least likely to 6. B
to land on? land on? land on?
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7) Whichtwo lettersisthe  8) Which number isthe 9) Which two numbersis 5
spinner equally likely to spinner most likely to the spinner equally likely |f 11-
land on? land on? to land on?
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10) Which letter isthe 11)  Which number isthe 12) Which letter isthe
spinner least likely to spinner most likely to spinner least likely to
land on? land on? land on?
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